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Something which is not specific — 2NN IRY 27

OVERVIEW

The X123 stated that the word 725w (in the 7109 of ywd 727 95 9V) is written in order
to exclude a 0>0n 1°XY 127 from the requirement of a 712w and to exempt it from
%93, There is a dispute between >"w9 and mMoon as to the meaning of a 1XYW 127
Q°M0n.

- 12 1250 DOY¥AY PRY 931 1DVNPN YW
>"w9 explained that 207 1°X¥ 127 means an object in which the owners have
no identifying markers on it.

mooIn disagrees:
- 21}:’0 12 )N 2D NN PI2D 13 W T NN NYP)

And this is difficult to understand; what difference does it make (regarding
paying 993 or being obligated to swear), whether it has a 329, or whether it does
not have a 3%°9; the rule should be the same in all cases.

mooin offers his interpretation of a 0°*101 1KY 127:
— (5¥ NN N7 W 3,30 97 maw) 123277 HIVIAYI INT NN 1) DH9AN 12 PNXY 12929 V9919

And the R''299 explains that a 207 1°Xw 727 is like for instance that which we

learnt in a 77w in 3939977 NIWAW 2D regarding the 712w of N¥pna 771 -
= *panaw Ypwunaw N1Nav 931 YY XN PP¥aV) PN

There is no oath of p"n21 unless it is something which can either be measured,

weighed, or counted -
- ‘501 NN NNINY N1 9DIN 1YY N9 ©9) 79 5NH901 KN N3 YDIONY

This excludes a case where the claim is, ‘I gave over to you a house full of
merchandise, or a full wallet’, and the defendant claims ‘here take what you put

down’; less than the claimant demands. In this case (even though he is a "n2wm, nevertheless)

v A",
? See “Thinking it over’.
? So if for instance the claimant says, I gave you two yards of cloth (or two pounds of copper, or two dollars) and the
defendant claims you only gave me one yard of cloth (or one pound of copper, or one dollar) the defendant is liable
to pay for that which he admitted, and swear that he did not receive the rest.
* See the X3 there on X,2 (and X% 7"7 '010) where X217 explains the 73wn even in a case where the claim is 77 n°2,
nevertheless it is not considered a }°1mw 127 since even if the house is not completely full it may be called a 891 n°3;
alternately since the respondent merely said v aAnR nmiTw on without specifying a specific amount, it is not
considered a 121 772w 727
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there is no m¥12W since it is not a IV PPWNIW 7THIAY 27 -
- S:l”h I TY IN A PINN 1Y N N DAN

However if this one claims there was merchandise up to the window, and the

defendant claim it was only up to the (lower) peg, he is obligated to take the oath of

a P"n2m. This concludes the citation from that 71wn. M0N0 continues with his explanation -
- SAYUN 19PWATT DIYN NY IN X920 NN 1Y NI

But how did the Xin know this logic to differentiate whether it is a "33 927 or

not, if it is not on account of the expounding of the word mmbw. A o™on wrw 127,
according to this explanation, is something which is not a 12w Ypwnawn 7773w 727,

mooIn offers an alternate explanation of a 0’107 1KY 127:
= (8,1 97 x>0 833) ANTN PIDT NONN 9D DNDNN 927 WY 199159 139N N

Additionally we can explain 2%»02:77 927 to be like that which nww 17 states in
277 21D regarding 1901 1Ip -

= R9T 1IN 28N 11059 I8N ¥7I9NY 3915 TB9901 937 Poyy A
Just as a shoe is a 2°e%7T 927, etc., in order to exclude half a pomegranate or

half a walnut that they are not eligible for 7291 117 -
- ONSIN NYDDT DYAT 523 (3,70 91 1BPY 135N 19

And similarly the X1 states later regarding the w97 of Rxnn Rx%7 -
- ©902 198V 1341 P09 T RYAN NYNA 192 NN 1Y 9INRT

Where the X n) states, ‘place the word 2v2n between the two words of Rx»7

X220 in order to exclude a 23719 1I9RW 927 from paying 993, so there too -
= 99951 919 LYNNT TN VNI 111399 I8N 139N

It means a 138 "X 17 *371 that he excludes them from paying 993."

> In this case it is a 7722w 127; up to the window or up to the 7.
% The xin of that mawn was aware that 7n9w excludes a 2>on WKW 727; his understanding of a ™on XY 927 is
something which is not a 132w 2PWwWnaw 7712w 127; otherwise why did he exempt them from a n¥2w.
7 A oon IPRW 737 in the case of a 213 N W (which the word 9w is excluding) is where the 7°pon claimed, ‘1
gave you a this house full of merchandise to watch’, and the 92 claims, ‘someone stole part of it’ (the part that is
missing), and then it was found that the 1w stole it; he does not pay 993 since it is a 0°*10% 1°RY 127.
8 We derive 12> Pap from a p109 in 1,7 M7 which states @R 79% 127 22 0°ph 1mAT 9) ARRIT 9Y YRIYID 0099 DR 1
"3 Y77 103) Y281
? s there 2o 71"72 explains it to mean 29w, whole.
1910 3,20 (2°wown) Mmw the P09 reads: D7Y° DY 00 A 7Y VA TV TWWH 72T 1777 KN K¥HT DX
"' Tn a usual 5931 191 593, the vAB is written between the two 0°%2. However here the two 29993 of X¥»7 and R¥»n
are written adjacent to each other, and the 0°v19 of 191 7m0 MW are written after the 2°9%2. Nevertheless, we consider
it as if the v» is placed between the 0°9%3 and interpret it as a regular 5"1912.
12 In our text it reads 007 727 ™1NXY. The idea is the same; see "W there X7X 71"7. See later in this NvOIN.
" Tt should be pointed out that this exclusion of 2>n WKW 927 regarding 795 from X¥nn X¥»7 is concerning a
‘regular’ thief. The exclusion of a 0°on WPRW 127 from paying 795 which is derived from 72%W is regarding a W
who is 213 n1vv 131 where he actually kept it for himself. See this n1oo1n later.
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Moo responds to an anticipated difficulty:'*
= DT NN P27 MYNWNN DY PIDN NIAY 21N 23) 959817 13NV HPYNIAYIY 11NV 92N

And this that we require for a 7v1aw 2vm that it be a Spwnawy g7Raw =27

12w, he derives it from the implication of the phrase 71 837 %3," which is written
by p"aam naw. '

NN discusses a variant X0
= 909 PNV 9327 INNY 171)3‘,77 D91 D90 U

And there are some texts which read later, ‘that 71 comes to include a =27

299907 IIRW, meaning that there is a 993 21’1 by a 00» XY 127; not as MdOIN reads it; to
exclude a 0>on XY 127 from paying 992.

mooIN rejects this XOIA:
- 5Ny NP TPI0NINT SVIWNIY PNYT RPID MN RIPNNT NI PN)

And this X0 of ™nK? is not correct, for from where would we have thought
that a 0> on 11°Rw 127 is excluded from %955 that we require a 2105 to include it?!

mooIN rejects a possible reason to exclude a 207 1IRW 127 -
- nN 89971 Pmsy 2332 Y9991 233 MYV 19V PayY 1Y 1PVYNNT 2 YY INT

For even though we have excluded a 2°*10n 1°XW 727 regarding a 213 nIyw MW

from paying 9525 however, regarding an actual thief, from where can we derive
that he should be exempt from 955 that we need a 7T1m°% to include him in 993 -
= 09 Y0IWNY NHN

But rather the text reads, ‘to exclude’ a o on 1°%w 727 from paying 992.

'* According to this explanation that a 00» 127 means a o 27, so the word 7% (only) excludes a 21 2> *¥n
from (7937) 712w, but it does not exclude something which is not a 21 7792w 927, so how does the m1wn in MW
(mentioned previously) derive that a 7312w 2117 is only by a 121 7722w 127?
> We derive P"n2m ny1aw from the 2109 in 17,20 (D’DDW?J) nmw which states "3 D’P%&ﬂ TV AT RN D MR WK, The
words 117 X177 °2 can be understood to mean, ‘it is only this’ (indicating the he is a n¥pn2 771), and it also means, ‘it is
only this’; implying that he is admitting to a specific amount, a 131 7722w 127.
o According to this answer there is no 7312w 93 by a 131 137 *¥n (because of the W n of 7m7w) and there is no 211
7¥I2w, unless it is a 772w 127 (because of AT X7 °2), however there is a 992 2117 even if it is not a 121 7722w 27
(since there is no P09 to exclude it).
17 9,70.
'8 mooin is arguing that we need a »12»7 or w7 to include something if there is some reason or 7" why it should
be excluded. However there is seemingly no reason to exclude a 007 18w 727 that we should require a ™91 to
include it.
' This is the exclusion from mnbw (in 1 Poo) where we exclude the 995 payment for a 213 niyv W (which that P05
is discussing) if it is a @101 1IRW 727.
20 The 109 of X¥nn X¥nA where we also discuss 0™on (1K) 727 is regarding a ‘regular’ 213. See footnote # 13.
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mooIn anticipates a difficulty:
- ZhUNID PIDOA 18 2331 DYNMIY 29 YY IN)

And even though a o°™on WRw 127 was already excluded from paying 993

regarding an actual 213, in the first m185,%2 so why do we require the word 9% to
exclude a 213 nwv W from paying 953 by a 0101 1KY 727; nevertheless -
- NN 21090 VDY 1Y PNPINND PID9a 793 VYNAY PN

We cannot exclude in this manner from paying 29> by a 0°0n 1°RW 727 in the
last 2102 by a 213 1w v, unless the 770 excludes it explicitly —

mooIn proves his point that we cannot derive 213 NIwY 131V from 223
2T 199955 X9 *Hr099105 70N MY DITaY MYPIP RNT
Because regarding nyauwn 2972y nwpap we require exclusions by both 213 and

213 nvv W, and we do not derive them from each other; the same applies to a 227
0”101 WRW.

SUMMARY

A 0™MDdn 1RY 127 according to °"w 1s something without a 72°0, and according to
mooIn it is either something which is not a 191 772w 727, or it is not a 22w N27; a XN
21 7. We cannot derive the exclusions of a 213 navv 1w and a 233 from each other.

THINKING IT OVER

Mmoo ask on ¥"w1 what difference is there whether there is a 32°0 or there is no j2°0
(regarding 1221 993).> Seemingly we can ask the same question on the X173 why
there is a difference if it is ¥yP7p or 1’D‘7D73;26 why should we exclude ypap.
Obviously the answer is that this is a 211377 n7°13; the same can apply to a 12°0!”

! This is referring to the P105 of (3,25) X¥nn X¥n7, which precedes the later P09 of (11,23) Mow.
** There is seemingly more reason to obligate a 213 (who took the item illegally) to pay 53 than to obligate a 13
213 N1y (who initially had the item in his possession legally) to pay 792. So once we know that a 213 is exempt from
503 if it is a 0°»on 1R 127, it would seem logical that a 213 nIw W be certainly exempt from 793 by a WRw 127
o™ on. However Nno1n rejects this reasoning.
> This is the P109 of (77 P10D) AM9W referring to a 233 NIVY Y.
* There is a >"913 regarding a 213 in the P05 of Xxnn X¥n7 to exclude 121 Mypap, and there is the 1271 LW "2
regarding a 213 N W in the 0o of ('m PIOD) YWD 127 95 Y to exclude "1 Mypp. And we are not satisfied with
one YWy, but rather both a 213 and a 213 NIV W require there separate 0717, The reason may be that just as there
is a X7 by a 213 (see footnote #22), there is also a X717 of a 213 NIYY 191V (over a 213) since the 213 NIV YW swore
falsely.
» See footnote # 2.
® We can also ask the question on M50 explanation that (it is not a 7712w 727 or) it is a 7™ *X.
*7 See wn nom.
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